PRE-CALCULUS: by Finney, Demana, Watts and Kennedy
Geometric Sequences and Series

What you'll Learn About
* Geometric Series
Determune 1f the followmg series 18 Geometric, 1Fit1s give the common ratio.
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Write the ﬁrE'L:S ferms of the geometric sequence
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A, = air"! when n =1

Use the recursive rule to write the first five terms of the sequence. Then,
write the sequence as a function of n.

or

n = air" whenn =0
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Find the missing term of the geometric sequence
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Find the sum of the first 5 terms. Then find r.
42) 8,12,18,27,81/2
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Find the sum of the first 10 terms. Then find r.
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Find the sum of the infinite series using the formula § :T“'—
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